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 @E () Section (A) _ _
WIS A = {x: x=n%,n<6,n N} F1 w0 H w9 4 faah 1
Write the set A = {x: x =n?,n <6,n eN} in roster form.

_sin765° 1 °F T U | Find the value of sin765° . 1

wfwg e 2 - 3i 1 om wfaem fafan) 1
Write the multiplicative inverse of complex number (2-3i)
W%ﬂﬁﬁﬁﬁlﬂ&ﬁ‘g%jﬁ el wt @l 1) e
A |

1
There are 6 points on the circle. How many straight lines can be
drawn by joining these points.

i
TEEI FAFGHES 1 HU | Find the derivative of T 1

Y T
ﬁmﬁmmsamws}r:amm A m F1 7 T

| 1
Iflines y =mx + 5 and 3x + 5y = 8 are mutally perpendicular, then
find vaﬂle of m.

X cos o, + y sin o = P &1 YA F hifa | 1
Find the slope of the line xcos . + y sina =P,
FO x4y —Bx+10y-R2=0MIRGEEFAT@H 1
Find the centre and radius of the circle :

x* +y? —8x+10y-12=0

TN %zm‘aﬁf ¥ Ui A 25, 35, 45 9 55 €, TR WA TR
Fif | 1
Find maan marks obtained by 4 students as follows 23, 35, 45, 55.
1 I T 1Y 39T T § |ﬁﬂ‘ﬂ€lﬁﬂmﬁaﬁvﬁmm?
F1 - '
Theee coins are tossed. Find the probability that atleast two heads
are appeared,
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@UE (&) Section (B)
afz U={,2,3,4,5,6,7,8,9,10}, A={1,2,3,4,5,6} T B={2,3,4}
7 fag =0 f5- 4
(i) (AUBY =A'NB (i) (ANB)=A"UB

If U={1,2,3,4,5,6,7,8,9,10}, A={1,234,56} and B={2,3,4},
. then prove that

(i) (aUBy=A'NB (i) .ﬁxﬁB}'=BJ-!\'l_iIE;'4 .

EEEa A= 1,2,3,4,5 W =1l "
;&?mqﬁuﬁ%%ﬁ ‘x<y};fﬁﬁx cA .,y eB T R% wiF g
¥ e ¥ w9 o fea au R S A F0 4
A relation ‘R’ from set A = {1,2,3,4,5} tosetB={l,4,5}is
defined such that ‘x<y’ whereas x € A and y €B . Find R as set
of ordered pairs also find R™".

fag =0 - Prove that : : 4

tanx tan2x tax3x = tan3x — tan2x —tanx
' . OR
fag %1 T (Prove that) :

COS[—E‘ + X] + COS(%— X] = -\JECOSK
Tt n e N F o nfvrdg smmm fagr= 9 fag H- 4
23 _1, 7R W ) '
By principle of mathematical induction method prove that
2% —1,7 isdivisible by 7 forall n eN. '

. b+2i " .
At T e 1 T T A T W 4

1-31 ]
1+2i

Write the polar form of the complex number Y

6 759 T 6 e O Tl o AR S e TR W 95 W 1
wafs @ off 3 ofeand wy-wy T8 530 ' 4
In how many ways &6 men and 6 women can be sit around the
round table, whereas any two women never sit together.

] .
[x‘—i,] & fowar # x5 T[T T S | 4
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» Find the cofficient of x™"7 in the expansion of x* -—)
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If three numbers a, b and c are in GP. and a*=b"= ¢*, then prove

1- 2
that —+—=—,
X' Z Y
19. AR log7=0-8451 and log3=0-4771, @ [og(21)’ 1 HA-TW™
& i 4
If log7=0-8451 and log3=0-4771, then find the value of
log(21y .
lim  x?_3x+2 o
20. 4 mwmmﬂﬂ?ﬂmvamate_ . .4
OR
lim 1P 42743% 142
n—seo - 0’ 1 HA 1 F | Evaluate.
x+1
21, HE —— T Seehersl JId Fifag | 4

. .. x+1
Find the derivative of the function o1
X

22, BEIETO 3xhAy=12 0 (i )G B (if ) O T A6 (i) SRS

&9 H o5 %4 | . 4
Express the equation 3x-+4y=12 in (i) slope form (ii) normal form
and (iii) intercept form.

23. ﬁﬁaﬁaﬁm,ﬁwaﬁmm#ﬁ#ﬁmm

X© ooyt
F—+—==1 4
4 .3
Find the cccentricity, length of latusrectum and coordinates of focii

X7yt
of the ellipse —+—=1_.
b

]

24, FefafE@das oo sy g s aa = 4
Find the mean deviation about the median for the following distri-
bution.

3+ (Marks) 10-20 20-30 30-40 40-50 50-60 60-70
(No. of students) 3 4 7 8 2 1
25, @ fafeddl A, B 991 C & g WY g6 01 1 WG] e

11 | N N
33 g 719 W & gl € A i wifaswmd 3@ wifad ) 04
i'?p;'nbﬂhilil}'uf'snh*fnga problem by three students A, B and C are

11 l
—.— and — respectively. Find the probability that problem is solve.

23 .
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. g (W) Section (C)
2. log.x T num fagra & ke I Hifag

Find the derivative of It;&.x by ﬁ:{;ﬁr‘{r;ig:ﬁ -
6

6

7. f@g(2,1) 3w (4,3)

Fifsa | _ :
fﬂd cquation of the perpendicular bisector of the line segment
joining the points (2, 1) and (4,3).

OR
37 e Y 1 e i e < g (1, 2) AT Breen T
BT X-378) T T2 T S AVE y-Ae T T A EE H G

Find the equation of the linc passing through the point (1, 2)and inter-
cept made by this line on x-axis is double the interccpt on y-axis.

2. h%aﬁfz,a} ar (-1,1) ﬂﬁﬁaﬁTmmmﬁﬁﬁ
foree ¥ W@ x - 3y - |1 = 0 W feama 1 ‘ 6
hroughlhcpomi.s{z,J}and

Find the equation of the circle passing t
(-1, 1) and whose centre lies on the linex-3y-11=0.
foreq aTCaE e I o e g WER 6 g ) 6
Find the mean and variance of the following distribution.

71 (Class) 0-10 10-20 | 20-30 | 30-40 _ 40-50
qETEn -
(Freguency) 5 o

fiye Rl Hed o 9gde g @ agde fawer nE I)
Hifaa |

Find the quartile deviation and cofficient of quartile deviation of
. the following distribution.
T (fm) Weight| 32 [ 35 | 38 | 43 | 50 | 56 | 60

=R

29.

3 © 15 16 6

s | 8] 9|43 ]

{Freguency) 2
B B
30. dARP(A)=04,P(B)=08, P[I) =06 P'[-A—J 41 P(AUB)
w1 AE T & ' "6

If P (A) = 0.4, P (B) = 0.8, P[—E—) = 0.6 then find the value of

b
." 'l.l .."

P(%) and P(AUB) .



